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01. Read the following passage and tick the most appropriate answer for the questions given below:


Democratic societies from the earliest times have expected their governments to protect the weak against the strong. 'No era (†qiv-hyM) of good feeling' can justify discharging the police force or giving up the idea of public control over concentrated (†K›`ªxf~Z) private wealth. On the other hand, it is obvious that a spirit (¯ú„nv) of self-denial and moderation on the part of those who hold economic power will greatly soften the demand for absolute equality. Men are more interested in freedom and security than in an equal distribution of wealth. The extent to which Government must interfere with business, therefore, is not exactly measured by the extent to which economic power is concentrated (mxgve×) into a few hands. The required degree of government interference depends mainly on whether economic powers are oppressively used, and on the necessity of keeping economic factors (KviYmg~n) in a tolerable (mnbxq) state of balance.

But with the necessity of meeting all these dangers and threats to liberty, the powers of government are unavoidably increased, whichever political party may be in office. The growth of government is a necessary result of the growth of technology and of the problems that go with the use of machines and science. Since the government in our nation, must take on more powers to meet its problems, there is no way to preserve freedom except by making democracy more powerful.

	01.
	The advent (Avwef©ve) of science and technology has increased the‑

	(C)
	(A)
	freedom of people

	
	(B)
	tyranny of the political parties

	
	(C)
	powers of the government

	
	(D)
	Chances (m¤¢vebvmg~n) of economic inequality

	
	
	2nd para 2nd & 3rd line

	
	
	

	02.
	A spirit of moderation on the economically sound people would make the less privileged

	(D)
	(A)
	unhappy with the rich people

	
	(B)
	more interested in freedom and security

	
	(C)
	unhappy with their lot

	
	(D)
	clarnor less for absolute equality

	
	
	1st para 3rd line (K¬¨vgvi - †Rviv‡jvfv‡e `vwe Kiv)

	
	
	

	03.
	The growth of government is necessitated to‑

	(D)
	(A)
	make the rich and the poor happy

	
	(B)
	cucb the accumulation of wealth in a few hands

	
	(C)
	monitor science and technology

	
	(D)
	deploy the police force wisely

	
	
	

	04.
	'Era of good feeling' in sentence 2 refers to‑

	(A)
	(A)
	time of prosperity

	
	(B)
	time of adversity

	
	(C)
	time without government


	
	(D)
	time of police atrocities

	
	
	

	05.
	'Tolerable state of balance' in the last sentence of the first paragraph may mean‑

	(B)
	(A)
	an adequate level of police force

	
	(B)
	a reasonable level of economic equality

	
	(C)
	a reasonable amount of government interference

	
	(D)
	a reasonable check on economic power

	
	
	1st para last line

	
	
	


02. Read the following passage and tick the most appropriate answer, for the questions given below:

Experiments have shown that in selecting personnel (Kgx©) for a job, interviewing is at best a hindrance (euvav), and may even cause (m„wó K‡i) harm. Some studies have disclosed (D`NvUb Kiv) that the judgments of interviewers differ (c„_K nIqv) markedly (j¶¨Yxqfv‡e) and bear little or no relationship to the adequacy of job applicants. Of the many reasons why this should be the case, three in particular stand out (j¶¨Yxq). The first reason is related to an error of judgment known as the halo effect. If a person has one noticeable (j¶¨Yxq) good trait (ˆewkó), their other characteristics will be judged as better than they really are. Thus, an individual who dresses smartly and shows self-confidence is likely (m¤¢ve¨) to be judged capable of doing a job well regardless of (†Kvb wKQy‡K MY¨ bv K‡i) his or her real ability. Interviewers are also prejudiced by an effect called the primacy(cÖvavb¨) effect. This error occurs when interpretation (e¨vL¨v) of later information is distorted (weK…Z Kiv) by earlier connected information. Hence, in an interview situation, the interviewer spends most of the interview trying to confirm the impression (cÖwZwµqv) given by the candidate in the first few moments. Studies (Rwic) have repeatedly demonstrated (†`Lv‡bv) that such an impression is unrelated to the aptitude (`¶Zv) of the applicant. The phenomenon known as the contrast(wecixZ) effect also skews (cÖfvweZ Kiv) the judgments of interviewers. A suitable candidate may be underestimated because he or she contrasts with a previous one who appears (g‡b nIqv) exceptionally intelligent. Likewise, an average candidate who is preceded (AMÖeZ©x nIqv) by one who gives a weak showing may be judged as more suitable than he or she really is. Since Interviews as a form of personnel selection have been shown to be inadequate, other selection procedures have been devised which more accurately predict (fwel¨ZevYx Kiv) candidate suitability. Of the various tests devised (D™¢veb Kiv), predictor that appears to do this most successfully is cognitive ability ,(†evSvi `¶Zv) as measured by a variety of verbal and spatial tests.

	01.
	According to the passage, the halo effect

	(B)
	(A)
	takes effect only when a candidate is well dressed.

	
	(B)
	Exemplifies (we¯—vwiZ e¨vL¨v Kiv) how one good characteristic colors perceptions (Dcjwä).

	
	(C)
	stands out as the worst judgment error.

	
	(D)
	helps the interviewer's capability to judge real ability.

	
	
	

	02.
	According to the passage, the first impression

	(B)
	(A)
	is unrelated to the interviewer's prejudices.

	
	(B)
	has been repeatedly demonstrated to the applicant.

	
	(C)
	is the one that stays with the interviewer.

	
	(D)
	can easily be altered.

	
	
	

	03.
	The passage mainly discusses the

	(A)
	(A)
	inadequacy of interviewing job applicants.

	
	(B)
	techniques that interviews use for judging job applicants.

	
	(C)
	judgments of interviews concerning.

	
	(D)
	effects of interviewing, on job applicants.

	
	
	

	04.
	The word "skews" is closest in meaning to

	(C)
	(A)
	improves

	
	(B)
	distinguishes

	
	(C)
	biases

	
	(D)
	opposes

	
	
	

	05.
	The word "hindrance" is closest in meaning to

	(A)
	(A)
	interference

	
	(B)
	procedure

	
	(C)
	assistance

	
	(D)
	encouragement

	
	
	


03. Read the following passage and identity the most appropriate answer for the questions given below:


Ocean water plays an indispensable (Acwinvh©) role in supporting life. The great ocean basins hold about 300 million cubic miles of water. From this vast amount, about 80,000 cubic miles of water are sucked into (Pz‡l †bqv) the atmosphere each year by evaporation and returned by precipitation (e„wócvZ) and drainage (wb®‹vkb) to the ocean. More than 24,000 cubic miles of rain descend annually upon the continents. This vast amount is required to replenish (cybt fwZ© Kiv) the lakes and streams, springs and water tables on which all flora and fauna (cÖvYx RMZ) are dependent. Thus, the hydrosphere permits organic existence.

The hydrosphere has strange characteristics because water has properties unlike those of any other liquid. One anomaly (e¨wZµg) is that water upon freezing expands by about 9 percent, whereas most liquids contract on cooling. For this reason, ice floats on (fv‡m) water bodies instead of sinking to the bottom. If the ice sank, the hydrosphere would soon be frozen solidly, except for a thin layer of surface melt water during the summer season. Thus all aquatic (RjR) life would be destroyed and the interchange of warm and cold currents, which moderates (cÖkwgZ Kiv) climate, would be notably (j¶Yxqfv‡e) absent. Another outstanding (j¶Yxq) characteristic of water is that water has a heat capacity which is the highest of all liquids and solids except ammonia. This characteristic enables the oceans to absorb (Pz‡l †bqv) and store vast quantities of heat, thereby often preventing climate extremes. In addition, water dissolves (wg‡k hvIqv) more substances than any other liquid. It is this characteristic which helps make oceans a great storehouse for minerals which have been washed down from the continents. In several areas of the world these minerals are being commercially exploited (e¨envi Kiv). Solar evaporation (ev®ú) of salt is widely
practiced, potash is extracted from (msMÖn Kiv) the Dead Sea, and magnesium is produced from sea water along the American Gulf Coast.

	01.
	According to the passage, fish can survive the oceans because

	(B)
	(A)
	they do not need oxygen.


	
	(B)
	ice floats.

	
	(C)
	evaporation and condensation create a water cycle.

	
	(D)
	there are currents in the oceans.

	
	(E)
	water absorbs heat.

	
	
	

	02.
	The author's main purpose in this passage is to

	(A)
	(A)
	describe the properties and uses of water.

	
	(B)
	illustrate the importance of conserving water.

	
	(C)
	explain how water is used in commerce and industry.

	
	(D)
	reveal (cÖgvY Kiv) the extent of the earth's ocean masses.

	
	(E)
	compare water with other liquids.

	
	
	

	03.
	According to the passage, the hydrosphere is NOT

	(D)
	(A)
	responsible for all forms of life

	
	(B)
	able to modify weather.

	
	(C)
	a source of natural resources.


	
	(D)
	in danger of freezing over.

	
	(E)
	the part of the earth covered by water.

	
	
	

	04.
	Which of the following characteristics of water does the author mention in the passage?

         I. Water expands when it is frozen.

         II. Water is good solvent.

         III. Water can absorb heat.

	(E)
	(A)
	I only

	
	(B)
	II only

	
	(C)
	I and II only

	
	(D)
	II and III only

	
	(E)
	I, II and III

	
	
	

	05.
	The author's tone in the passage can best be described as

	(B)
	(A)
	biased (c¶cvZc~Y©)

	
	(B)
	hortatory (Dc‡`kg~jK)

	
	(C)
	speculative (wPš—vg~jK)

	
	(D)
	dogmatic (†Muvov)

	
	(E)
	dispassionate 

	
	
	


04. Read the following passage and identity the most appropriate answer for the questions given below:

The eyes of a human being are not sensitive to all light but only that between wavelengths of 380-760 millmicrons. This fact prevents us from being aware that our bodies emit (wbM©Z Kiv) electromagnetic waves. These waves are mostly longer than that we are sensitive to but thermographic techniques can translate them into extraordinary coloured pictures. Atoms generate (Drcv`b Kiv) infrared rays since they are constantly (AbeiZfv‡e) in motion. The warmer the atoms are, the more active they become. This results in thermographic pictures revealing (†`Lv‡bv) different parts of the body in different colours; black and blue for the cold parts, green, yellow for the cool or slightly (mvgvb¨) warm ones, and orange and red for those which are hot. All this has health applications for such problems as tumors, arthritis and cancer, which show up (cÖKU nIqv) as isolated (Avjv`v) red areas on the thermographic portraits (cÖwZK„wZ).
	01.
	According to the passage‑

	(B)
	(A)
	the eyes of human being are not all sensitive to light.

	
	(B)
	light wavelengths vary between 380 and 760 millimicrons.

	
	(C)
	some light can not be seen by the human eye.

	
	(D)
	some people's bodies emit electro magnetic waves.

	
	(E)
	some eyes emit electro magnetic waves.

	
	
	Hints: 1st line

	
	
	

	02.
	Atoms generate rays of light‑

	(C)
	(A)
	because they are infrared.

	
	(B)
	if they are active

	
	(C)
	due to constant motion.

	
	(D)
	when they become warm

	
	(E)
	whey they become dry.

	
	
	Hints: 4th line

	
	
	

	03.
	The majority of electromagnetic waves emitted by the human body‑

	(A)
	(A)
	are above 760 millimicrons in length

	
	(B)
	vary between 380 and 760 millimicrons in length

	
	(C)
	translate into thermographic techniques.

	
	(D)
	are below 380 millimicrons in length.

	
	(E)
	are colorless at high temperature.

	
	
	Hints: 1st & 3rd line

	
	
	

	04.
	Thermo graphic portraits show the body in different colours‑

	(D)
	(A)
	only if the patient is suffering front tumors or cancer.

	
	(B)
	according to the activity of atoms in the different parts.

	
	(C)
	because some parts are black and blue and others orange and red.

	
	(D)
	when the atoms are active

	
	(E)
	whenever there is health application.

	
	
	Hints: Middle line

	
	
	

	05.
	The atoms in tumors or cancerous areas are‑

	(D)
	(A)
	problems

	
	(B)
	isolated

	
	(C)
	red

	
	(D)
	very active

	
	(E)
	blue

	
	
	Hints: Last 2 sentence

	
	
	


5. Directions: Read the following passage and select the best answers using the text.

The Anarchists (‰bivR¨ev`x) and Marxists have defined the state as an instrument of coercion (`gb bxwZ Øviv kvmb) which suppresses individuals, groups, or associations in society in the interests (¯^v_©) of particular dominating (cÖfvekvjx) classes and their privileges (my‡hvM-myweav).The definition is an incomplete one, based on the observation either of certain political authorities or of political authorities at certain times. The states in such primitive (Avw`g) societies, whether of the past or of the present are either unitary or proto- democratic in character. 

Second, even in the class societies we find far-sighted (`~i`k©x) rulers who make laws unfavorable to the privileges and interests of the dominating classes. 

Third, there are numerous (AmsL¨) instances (D`vniY), even in rigid (K‡Vvi) class societies, of people having risked everything including their lives, to defend (i¶v Kiv) the states against the dangers facing them. 

Fourth, most far-sighted rulers and political thinkers have recognized (Dcjwã Kiv) that the state can have stability only on the basis of the acquiescence (m¤§wZ) of the voluntary consent (m¤§wZ) of the people. All these considerations show that the state is not always simply an instrument of class oppression (wbh©vZb).
	01.
	The central idea of the passage is:

	(C)
	(A)
	State neither is nor was an instrument of coercion.

	
	(B)
	State was organized differently in different periods of history.

	
	(C)
	The Marxist and Anarchist's view that state is an instrument of coercion is incorrect.

	
	(D)
	None of these

	
	
	Hints: 2nd line

	
	
	

	02.
	Most appropriate title for the passage is:

	(B)
	(A)
	State as an instrument of coercion.

	
	(B)
	Anarchist and Marxist's view of state is fallacious 

	
	(C)
	State's power and function.


	
	(D)
	State and individual.

	
	
	Hints: First 2 sentence

	
	
	

	03.
	The writer says except:


	(D)
	(A)
	There was classless society in primitive time.

	
	(B)
	People in class societies risked their lives to defend the state.

	
	(C)
	State is stable if people willingly obey it.

	
	(D)
	In a state dominating class dictates.

	
	
	

	04.
	The writer seems to be:

	(D)
	(A)
	Marxist

	
	(B)
	Democratic (MYZvwš¿K)

	
	(C)
	Liberal (D`vi)

	
	(D)
	Rational (†hvw³K)

	
	
	

	05.
	The passage is:

	(A)
	(A)
	Argumentative (weZK©g~jK)

	
	(B)
	Explanatory (e¨vL¨vg~jK)

	
	(C)
	Descriptive (eY©bvg~jK)

	
	(D)
	Narrative (eY©bvg~jK)

	
	
	


06. Read the following passage and choose the most appropriate answer for the questions given below.

There was once a poor cobbler who just earned a bare living for himself and his family. He passed his time working and singing merrily from dawn till dusk. One morning a rich neighbor of his came to him and said. "My good friend, I want to help you," But why, Sir?" said the cobbler, "I have no troubles. I am very happy." I want to place you above the fear of want (Afve), said the rich man. "So take these hundred crowns (gy`ªv), preserve
(msi¶Y Ki) them carefully and use them in time of need." The cobbler had never seen so much money at a time before. He took gladly and hurried back (`ª“Z †div) home. He buried his treasure in the earth for safety. But alas! He buried his happiness with it, too. There was no more singing. At night, he thought that his money might be stolen by thieves. So he could not sleep for a single moment. Next morning, he returned the hundred crowns to the rich man with many thanks for his kind and noble intention (D‡Ïk¨).

	01.
	The expression "earned a bare living" means ‑

	(D)
	(A)
	earned a small amount of money

	
	(B)
	earned an amount of money that could not help him

	
	(C)
	earned a lot of money

	
	(D)
	earned only just enough money to live on

	
	
	

	02.
	'The cobbler' means -

	(D)
	(A)
	a porter

	
	(B)
	a day laborer

	
	(C)
	a potter

	
	(D)
	a mender of shoes

	
	
	

	03.
	The rich man gave the cobbler money because he wanted to -

	(D)
	(A)
	make friendship with him

	
	(B)
	prove that he was a good neighbor

	
	(C)
	kill his happiness

	
	(D)
	place him above the fear of want

	
	
	

	04.
	Which one of the following is true?

	(D)
	(A)
	Happiness consists in contentment

	
	(B)
	Good neighbors can make a man really happy.

	
	(C)
	A man cannot be happy without money

	
	(D)
	Happiness cannot be bought or borrowed

	
	
	

	05.
	The cobbler could not sleep for a single moment because -

	(D)
	(A)
	he had imaginary fears in his mind

	
	(B)
	he buried his treasure in the earth

	
	(C)
	he had to watch the money

	
	(D)
	the thieves might steal it

	
	
	


07. Read the following passage and answer the following questions.

A great deal of discussion continues as to the real extent of global environmental degradation (AebwZ) and its implications (Abygvb). What few people challenge, however, is that the renewable natural resources of developing countries are today subject to (Aaxb) stresses (Pvc) of unprecedented (Af~Zc~e©) magnitude (¸i“Z¡). These pressures are brought about, in part, by increased population and the quest (†LuvRv) for an ever expanding food supply. Because the health, nutrition and general well-being of the poor majority are directly dependent on the integrity (m¤ú~Y©Zv) and productivity of their natural resources, the capability of governments to manage them effectively over the long term becomes of paramount (wekvj) importance.

Developing countries are becoming more aware of the ways in which present and future economic development must build upon a sound and sustainable natural resource base. Some are looking at our long tradition in environmental protection and are receptive (MÖnY K‡i) to US assistance which recognizes (eySv) the uniqueness of the social and ecological systems in these tropical countries. Developing countries recognize the
need to improve their capability to analyze issues and their own natural resource management. For example, AID funded a National Academy of Sciences panel to advise Nepal on their severe natural resource degradation problems. Some countries such as Senegal, Indonesia and Thailand, are now including conservation concerns (welq) in their economic development planning process.

Because so many governments of developing nations have recognized the importance of these issues, the need today is not merely (ïaygvÎ) one of raising (RvMÖZ Kiv) additional consciousness, but for carefully designed and sharply focused activities aimed at the establishment of effective resource management regimes that are essential to the achievement of sustained development.

	01.
	Some of the developing countries of Asia and Africa have-

	(D)
	(A)
	formulated very ambitious plans of protecting habitat in the region.

	
	(B)
	laid a great stress on the conservation of natural resources in their educational endeavor.

	
	(C)
	carefully dovetailed environmental conservation with the overall strategy of planned economic development.

	
	(D)
	sought the help of US experts in solving the problem of environmental degradation.

	
	
	

	02.
	Technical know-how developed in the USA

	(B)
	(A)
	cannot be easily assimilated by the technocrats of the developing countries.

	
	(B)
	can be properly utilized on the basis of developing countries being able to launch an in-depth study of their specific problems.

	
	(C)
	can be easily borrowed by the developing countries to solve the problem of environmental degradation.

	
	(D)
	can be very effective in solving the problem of resource management in tropical countries.

	
	
	

	03.
	There has been a pronounced deterioration of habitat all over the globe because of-

	(B)
	(A)
	rigorous operation of the Malthusian principle.

	
	(B)
	unprecedented urbanization and dislocation of self contained rural communities.

	
	(C)
	optimum degree of industrialization in the developing countries.

	
	(D)
	large scale deforestation and desertification

	
	
	

	04.
	The poor people of the developing world can lead a happy and contented life if-

	(C)
	(A)
	there is a North-South dialogue and aid flows freely to the developing world.

	
	(B)
	industries based on agriculture are widely developed.

	
	(C)
	economic development takes place within the ambit of conservation of natural resources.

	
	(D)
	there is an assured supply of food and medical care.

	
	
	

	05.
	How much environmental pollution as taken place in the developing and developed world?

	(D)
	(A)
	There much environmental pollution has taken place in the developing and developed world?

	
	(B)
	There has been a considerable environment all over the globe.

	
	(C)
	There has been an extensive environmental both in the developed and the developing world.

	
	(D)
	The environmental pollution that has taken place all over the globe continues to be a matter of speculation and enquiry.

	
	
	


08. Read the following passage and tick the most appropriate answer for the questions that appear below:


The right of all people to self-determination is no longer a matter of opinion. It is an established fact which the United Nations Charter recognizes and which has been accepted by its member nations. Freedom is not a prize to be offered for good behaviour or a commodity to be withheld (a‡i ivLv) for the pleasure or the profit of the ruler. If the word is to have any meaning it cannot be denied to any portion of the world's people for any reason whatsoever. The tremendous (wekvj) revolution that is stirring (bvov †`qv) Asia and Africa has at last given the people of these mighty continents the opportunity of expressing themselves with newly-found confidence and dignity and they will be satisfied with nothing less than their birth right. This is not the time when any man can ride astride (`y cv Szwj‡q) another or be his master. It is time to bury (Kei †`qv) false notions or prestige and act in terms of human welfare. We make a plea (Aby‡iva) for the peaceful and friendly solution of this problem so that bitterness may cease (_vgv) and the dark shadow of conflict which threatens (ûgwK †`qv) may be lifted. There is no alternative to co-existence (mn Ae¯’vb) by tragedy - tragedy as devastating for the powerful as for the humbler nations.

	01.
	The main idea of the passage is:

	(A)
	(A)
	Right of self-determination is an accepted fact.

	
	(B)
	Freedom, the birth right, should be granted to Asian and African countries in a peaceful manner.

	
	(C)
	A great revolution is stirring Asia and Africa.

	
	(D)
	Alternative to co-existence is co-destruction

	
	
	2nd line

	
	
	

	02.
	The most appropriate title for the passage is:

	(A)
	(A)
	Freedom, the birth right of man.

	
	(B)
	Resurgence of Asia and Africa.

	
	(C)
	Importance of freedom and Asian, African countries.

	
	(D)
	United Nation's Charter and Freedom.

	
	
	

	03.
	The passage implies:

	(A)
	(A)
	Freedom is the birth right of man.

	
	(B)
	Co-existence is necessary for the world.

	
	(C)
	Asian and African countries are fighting for freedom.

	
	(D)
	Imperialists are trying to suppress the freedom.

	
	
	

	04.
	The attitude of the write towards the subject is that of a:

	(D)
	(A)
	Fascist

	
	(B)
	Imperialist

	
	(C)
	Pacifist

	
	(D)
	Rationalist

	
	
	

	05.
	The author has not said

	(D)
	(A)
	U.N. Charter recognizes the right to self determination.

	
	(B)
	Asian and African countries are demanding their birthright i.e. freedom.

	
	(C)
	There is a threat of conflict.

	
	(D)
	Right to self-determination is a national concept.

	
	
	


09. Read the following passage and identify the most appropriate answer for the questions given below.

There are some people who are bored (wei³) by almost any conversation. They are bored if you talk shop, they are bored if you talk golf, they are bored if you talk politics. It is men like this who loathe (AcQ›` Kiv) strangers who try to enter into conversation. This dislike of conversation with strangers is for me hard to understand. I think I should even enjoy an occasional hour with a bore (wei³Ki e¨w³). Up to a point I like bores. Many bores are so happy that it is a pleasure to watch them. The worst bores are those who love telling people the various routes from one place to another. Another boring form of conversation is that of the man, who, while talking politics, frets out all the old threadbare (MZvbyMwZK) arguments (hyw³mg~n) with the air (avibv) of a person using them for the first time. I have been a bore of this kind myself. Once my friend observed, "My god, what a bore you are." I felt like pricked (dzUv Kiv) balloon at first, but respected my friend for his candour (¯úóevw`Zv). Since then no one has called me a bore. I have learnt to study the expression on the face of people. There are certain people with whom one has a right to be bored — people who are so self-centered and they cannot listen to anyone talking. Such people are boring because they make one feel for the time being an outsider.

	01.
	The author's outspoken (¯úóevw`) friend earned his respect presumably because:

	(B)
	(A)
	he was successful in influencing the author's personality.

	
	(B)
	he helped the author in making him realize how he appeared to other people.

	
	(C)
	he was a man with solid commonsense.

	
	(D)
	he refused to indulge sycophancy.

	
	
	Last of the passage

	
	
	

	02.
	The prime objective of the author in this passage is to:

	(C)
	(A)
	recount his personal experiences with bores.

	
	(B)
	champions the cause of bores.

	
	(C)
	describe various kinds of bores.

	
	(D)
	enunciate ways to avoid becoming a bore.

	
	
	

	03.
	Self-centered people are bores because:

	(A)
	(A)
	they are habitually hostile or unfriendly.

	
	(B)
	their stock of topics for discussion is limited.

	
	(C)
	they cut off all communication.

	
	(D)
	they have a single track mind

	
	
	Last 2 line of the passage

	
	
	

	04.
	People who are averse (wegyL) to strike up(ïi“ Kiv) conversation with a stranger are inevitably (Acwinvh©fv‡e) always:

	(D)
	(A)
	those who like to dominate the scene by talking themselves.

	
	(B)
	those who are suspicious by nature.

	
	(C)
	those who are bores themselves.

	
	(D)
	those who are bored by any conversation.

	
	
	First of the passage

	
	
	

	05.
	The redeeming characteristic in bores, according to the author, is this:

	(C)
	(A)
	they keep the conversational ball rolling.

	
	(B)
	they are blissful in their obliviousness to their surroundings.

	
	(C)
	self-realization dawns quickly upon them.

	
	(D)
	they are happy people because they are engrossed with themselves.

	
	
	


10. Read the following passage and chooses the most appropriate answer for the questions given below:

Economists, ethicists and business sages (weÁ) persuade us that honesty is the best policy, but their evidence is weak. We hoped to find data that would support their theories and thus, perhaps encourage higher standards of business behavior. To our surprise, our pet (¶z`ª) theories failed to stand up. Treachery, we found, can pay. There is no compelling (j¶¨Yxq) economic reason to tell the truth or keep one's word, punishment for the treacherous (cÖZviK) in the real world is neither swift nor sure. 

Honesty is, in fact, primarily a moral choice. Business people do tell themselves that, in the long run, they will do well by doing good. But there is little factual or logical basis for this conviction (`„p-wek¦vm). Without values, without a basic preference for right over wrong, trust based on such self​ delusion (AvZœ-cÖZviYv) would crumble (†f‡½ cov) in the face of temptation (cÖ‡jvfb). Most of us choose virtue because we want to believe in ourselves and have others' respect and belief in us.

And for this, we should be happy. We can be proud of a system in which people are honest because they want to be, not because they have to be. Materially, too, trust based on morality provides great advantages. It allows us to join in great and exciting enterprises that we could never undertake if we relied on economic incentives alone. 

Economists tell us that trust is enforced (cÖ‡qvM Kiv) in the market place through retaliation of reputation. If you violate a trust your victim is apt (`¶) to seek revenge and others are likely to stop doing business with you, at least under favorable terms. A man or woman with a reputation for fair dealing will prosper. Therefore, profit maximizers are honest. This sounds (g‡b nIqv) plausible (wek¦vm‡hvM¨) enough until you look for concrete examples. Cases that apparently demonstrate (†`Lv‡bv) the awful consequences of trust turns out to be few and weak, while evidence that treachery can pay seems compelling.

	01.
	Which of the following is false according to the passage?

	(C)
	(A)
	People are generally honest because it pays in the long run.

	
	(B)
	Virtuous behavior earns the self-respect of others.

	
	(C)
	Economists believe that all businessmen are dishonest.

	
	(D)
	Generally, people are honest to earn self-respect.

	
	
	

	02.
	Why do businessman, according to economists, remain honest? Because dishonest businessman

	(D)
	(A)
	are flogged in the market place.

	
	(B)
	are always prosecuted

	
	(C)
	can make more money.

	
	(D)
	cannot stay in business for long.

	
	
	2nd para

	
	
	

	03.
	What, did the author find out about the theory the honesty is the best policy?

	(C)
	(A)
	It is a useless theory.

	
	(B)
	It is correct on many occasions.

	
	(C)
	It is correct for all businessmen.

	
	(D)
	It is correct only occasionally.

	
	
	

	04.
	What do economists and ethicists want us to believe?

	(B)
	(A)
	Businessmen are honest only at times.

	
	(B)
	Businessmen should be honest at all times.

	
	(C)
	Businessmen cannot be honest at all times.

	
	(D)
	Businessmen turn dishonest at times.

	
	
	

	05.
	Which is the material advantage, which the author sees in being honest? It permits one to

	(A)
	(A)
	undertake activities which may not be economically attractive.

	
	(B)
	be honest for the sake of honesty alone.

	
	(C)
	make a lot of profit in various areas.

	
	(D)
	None of these.

	
	
	3rd Para 

	
	
	


11. Read the following passage and answer the questions given below: 

The IMF expects growth in world trade to decline from 9.4 percent in 2006 to 2.1 percent in 2009. The expected declines will come through a combination of lower commodity prices, a reduction in demand for their goods from advanced, economies and less tourism. Bangladesh is relatively insulated from the severe fallout of the global financial crisis because of limited international exposure. However, it will not remain totally unaffected. Exports and remittances are expected to fall in the short to medium term with attendant domestic in the form of unemployment, loss of government revenue and deterioration in the balance of payments. A large-scale fiscal stimulus is beyond the reach of a developing country like Bangladesh due to revenue shortage, fiscal imbalance and lack of institutional capacity. Short-term measures to address the situation include recapitalizing banks, streamlining the regulatory and supervisory capacity of the central bank and encouraging merger and acquisition which would help consolidate the financial sector. Monetary policy should be accommodative while containing inflation through better demand management policies and reduce the cost of borrowing. The fiscal response has to be bigger and better with an increase in infrastructure spending and expansion of social safety nets. On the trade side, Bangladesh should lobby for more open markets abroad and keep its markets open for investment by foreigners and expatriate nationals.

	01.
	A suitable title for the passage could be‑

	(D)
	(A)
	Financial difficulties

	
	(B)
	Global financial crisis

	
	(C)
	Financing crisis conditions

	
	(D)
	Measures to address global financial crisis in Bangladesh

	
	
	

	02.
	What does the term 'insulated' means?

	(B)
	(A)
	Shielded

	
	(B)
	Rendered Harmless

	
	(C)
	Vulnerable

	
	(D)
	Isolated

	
	
	

	03.
	The immediate likely impact of financial crisis would be-

	(B)
	(A)
	Difficulties in budgetary management

	
	(B)
	Fall in exports and remittance

	
	(C)
	Monetary problems

	
	(D)
	Unemployment

	
	
	Note : 5th sentence 

	
	
	

	04.
	Monetary measures to address financial crisis could be-

	(D)
	(A)
	Tighter credit policy

	
	(B)
	Restructuring banks

	
	(C)
	Relaxing supervision of banks

	
	(D)
	Pursuing flexible monetary policy

	
	
	Note: 16th line- Monetary policy should be accommodative which easy monetary policy.]

	
	
	

	05.
	Fiscal measures could include‑

	(C)
	(A)
	Control on government expenditure

	
	(B)
	Giving subsidy

	
	(C)
	Increasing government expenditure for infrastructure projects

	
	(D)
	Tax breaks to business

	
	
	Note: 2nd last sentence- increase in infrastructure spending and expansion of scoial safety nets. So ans. (c).

	
	
	


12. Read the following passage and answer the following questions. 

Scientists do not yet thoroughly understand just how the body of an individual becomes sensitive to a substance that is harmless or even wholesome for the average person. Milk, wheat and egg, for example, rank among the most healthful and widely used foods. Yet these foods can cause persons sensitive to them to suffer greatly. At first, the body of the individual is not harmed by coming into contact with the substance. After a varying interval of time, usually longer than a few weeks, the body becomes sensitive to it, and an allergy begins to develop. Sometimes it is hard to figure out if one has a food allergy, since it can show up in many different ways. One's symptoms could be caused by many other problems. One may have rashes, hives, joint pains, headaches, irritability, or depression. The most common food allergies are to milk, eggs, seafood, wheat, nuts, seeds, chocolate, oranges, and tomatoes. Many of these allergies will not develop if these foods are not fed to an infant until her or his intestines mature at around seven months. Breast milk also tends to be protective. Migraines can be set off by foods containing tyramine, phenathylamine, monosodium glutamate, or sodium nitrate. Common foods which contain these are chocolate, aged cheeses, sour cream, chicken livers, ripe bananas and cured meats. Some people have been successful in treating their migraines with supplements of B-vitarnins, particularly B6 and niacin. Children who are hyperactive may benefit from eliminating food additives, especially colorings and food high in salicylates from their diets. A few of these are almonds, green peppers, peaches, tea and grapes.

	01.
	The topic of this passage is-

	(A)
	(A)
	reactions to foods

	
	(B)
	foods and nutrition

	
	(C)
	infants and allergies

	
	(D)
	a good diet

	
	
	

	02.
	The word 'hyperactive' in the passage is closest in meaning to-

	(A)
	(A)
	overly active

	
	(B)
	unusually low activity

	
	(C)
	excited

	
	(D)
	inquisitive

	
	
	Hints: Hyperactive-AwZgvÎvq mwµq

	
	
	

	03.
	The author states that the reason that infants need to avoid certain foods related to allergies has to do with the infant's-

	(B)
	(A)
	lack of teeth

	
	(B)
	underdeveloped intestinal tract

	
	(C)
	poor metabolism

	
	(D)
	inability to swallow solid foods

	
	
	Note : (9th sentence)

	
	
	

	04.
	According to the passage, the difficulty in diagnosing allergies to food is due to-

	(C)
	(A)
	the vast number of different foods we eat

	
	(B)
	lack of a proper treatment plan

	
	(C)
	the similarity of symptoms of the allergy to other problems

	
	(D)
	the use of prepared formula to feed babies

	
	
	Note : 6th sentence

	
	
	

	05.
	What can be inferred about babies from the passage?

	(B)
	(A)
	they can eat almost anything

	
	(B)
	they should have a carefully restricted diet as infants

	
	(C)
	they gain little benefit from being breast fed

	
	(D)
	they may become hyperactive if fed solid food too early

	
	
	Note : Last Para


13. Read the following passage and identify the most appropriate answer for the questions given below: 

The eyes of a human being are not sensitive to all light but only that between wavelengths of 380-760 millimicrons. This fact prevents us from being aware that our bodies emit electromagnetic waves. These waves are mostly longer than that we are sensitive to but thermographic techniques can translate them into extraordinary coloured pictures. Atoms generate infrared rays since they are constantly in motion. The warmer the atoms are, the more active they become. This results in thermographic pictures revealing different parts of the body in different colours; black and blue for the cold parts, green, yellow for the cool or slightly warm ones, and orange and red for those which are hot. All this has health applications for such problems as tumors, arthritis and cancer, which show up as isolated red areas on the thermographic portraits.

	01.
	Thermographic portraits show the body in different colours—

	(D)
	(A)
	only if the patient is suffering from tumors or cancer

	
	(B)
	according to the activity of atoms in the different parts

	
	(C)
	because some parts are black and blue and others orange and red 40 

	
	(D)
	when the atoms are active

	
	(E)
	whenever there is health application

	
	
	

	02.
	Atoms generate rays of light-

	(C)
	(A)
	because they are infrared

	
	(B)
	if they are active

	
	(C)
	due to constant motion

	
	(D)
	when they become warm

	
	(E)
	when they become dry

	
	
	

	03.
	The majority of electromagnetic waves emitted by the human body—

	(A)
	(A)
	are above 760 millimicrons in length

	
	(B)
	vary between 380 and 760 millirnicrons in length

	
	(C)
	translate into thermographic techniques

	
	(D)
	are below 380 millimicrons in length

	
	(E)
	are colorless at high temperature

	
	
	

	04.
	The atoms in tumors or cancerous areas are-

	(C)
	(A)
	problems

	
	(B)
	isolated

	
	(C)
	red

	
	(D)
	very active

	
	(E)
	blue

	
	
	

	05.
	According to the passage-

	(C)
	(A)
	the eyes of human being are not 211 sensitive to light

	
	(B)
	light wavelengths vary between 380 and 760 millimicrons

	
	(C)
	some light can not seen by the human eye

	
	(D)
	some people's bodies emit electromagnetic waves

	
	(E)
	some eyes emit electro magnetic waves

	
	
	


14. Read the following passage and answer the following questions. 

Economists, ethicists and business experts persuade us that honesty is the best policy, but their evidence is weak. We hoped to find data that would support their theories and thus, perhaps, encourage higher standards of business behaviour. To our surprise, their pet theories failed to stand up. Treachery, we found, can pay. There is no compelling economic reason to tell the truth or keep one's word. Punishment for the treacherous in the real world is neither swift nor sure. 

Honesty is, in fact, primarily a moral choice. Business people do tell themselves that, in the long run, they will do well by doing good. But there is little factual or logical basis for this conviction. Without values, without a basic preference of right over wrong, trust based on such delusion would crumble in the face of temptation. Most of us choose virtue because we want to believe in ourselves and because others respect and believe us. 

And due to this, we should be happy. We can be proud of a system in which people are honest because they want to be, not because they have to be. Materially, too, trust based on morality provides great advantages. It allows us to join in great and exciting enterprises that we could never undertake if we relied on economic incentives alone.

Economists tell us that trust is enforced in the market place through retaliation and reputation. If you violate a trust, your victim is apt to seek revenge and others are likely to stop doing business with you, at least under favourable terms. A man or woman with a reputation for fair dealing will prosper. Therefore, profit maximisers are honest. This sounds plausible enough until you look for concrete examples. Cases that apparently demonstrate the awful consequences of trust turn out to be few and weak, while evidence that treachery can pay seems compelling.

	01.
	Why does the author say that one can be proud of the present situation?

	(D)
	(A)
	People are self-respecting

	
	(B)
	People are respect-seekers

	
	(C)
	People are unselfish

	
	(D)
	People are honest without compulsion

	
	
	Note : 3rd paragraph-02nd sentence

	
	
	

	02.
	Which of the following best describes what the author is trying to point out through the last sentence of the passage, 'Cases that ______ compelling'?

	(A)
	(A)
	The consequences of dishonesty

	
	(B)
	Theories do not seem to be true

	
	(C)
	Economists predict correctly

	
	(D)
	The contradictions in the real world

	
	
	

	03.
	What do economists and ethicists, according to the passage, want us to believe?

	(A)
	(A)
	Businessmen should always be honest

	
	(B)
	Businessmen cannot always be honest

	
	(C)
	Businessmen turn dishonest at times

	
	(D)
	Businessmen are honest only at times

	
	
	

	04.
	Why are businessmen, according to the author, honest in their dealings?

	(D)
	(A)
	Businessmen are God-fearing

	
	(B)
	Businessmen choose to be honest

	
	(C)
	Businessmen are honest by nature

	
	(D)
	All businessmen are caught if they are dishonest

	
	
	

	05.
	Which of the following phrases is most nearly the same in meaning as the word 'persuade' as it has been used in the passage?

	(D)
	(A)
	Give an assurance

	
	(B)
	Give an option

	
	(C)
	Try to convince

	
	(D)
	Cheat 

	
	
	Win thy luck


